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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain elasticity of demand. Distinguish between 

price elasticity and income elasticity of demand. 

ek¡x dh yksp dks foLrkjiwoZd le>kb,A ek¡x dh ewY; dh 

yksp vkSj vk; dh yksp ds chp vUrj Li”V dhft,A 

2. Define consumer‟s equilibrium. Elaborate the Law of 

Diminishing Marginal Utility. 

miHkksäk larqyu dks ifjHkkf”kr dhft,A ?kVrh gqbZ lhekUr 

mi;ksfxrk fl)kUr dks foLrkjiwoZd le>kb,A 

3. Explain the circular flow of a 4 sector economic 

model. 

,d pkj {ks=h; vkfFkZd izfreku dk o`Ÿkkdkj@ifji= izokg 

dh foLrkjiwoZd O;k[;k dhft,A 

4. Explain how to determine price and output under 

perfect competition market. 

,d iw.kZ izfr;ksfxrk cktkj ds vUrxZr ewY; mRiknu dks 

fu/kkZfjr djus ds rjhds ds ckjs esa crkb,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Mixed Economy 

fefJr vFkZO;oLFkk 

2. Imperfect market information 

viw.kZ cktkj dh tkudkjh 

3. Indifference curve analysis 

rVLFkrk oØ fo’ys”k.k 

4. Path of a Linear Homogeneous Production Function. 

,d jSf[kd ltkrh; mRiknu Qyu dk iFk 

5. National Income 

jk”Vªh; vk; 

6. Absolute income and relative income 

lEiw.kZ vk; rFkk lkis{k vk; 

7. Kinked Demand Curve 

fodafir ek¡x oØ 

8. Edgeworth Duopoly Model. 

,toFkZ };kf/kdkj izfreku 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. Consumption possibility frontier is same as the 

demand curve. 

miHkksx lEHkkO;rk lhek vkSj ek¡x oØ dk gh ,d :i gSA 

2. When the two factors are perfect substitutes, then the 

isoquant is L-shaped. 

tc nks dkjd ,d&nwljs ds iw.kZ LFkkukiUu gksrs gSa] rc 

leksRikn oØ dk vkdkj ' L ' :i dk gksrk gSA 

3. If the products are substitutes, then the value of cross 

elasicity of demand would be .........  

vxj oLrq,¡ LFkkukiUu@izfrLFkkiu gksa] rks ek¡x dh vkM+h 

yksp dk eku 
----------------

 gksxkA 

4. Under constant returns to scale, the nature of the long-

run average cost curve is parallel to output axis. 

fu;rkad vko`fŸk vuqikr ds le;] nh?kZdky&izokg vkSlr 

ykxr oØ dk vkdkj mRiknu ds lkekukarj gksrk gSA 

5. According to Say‟s law of market “demand creates its 

own supply.” 

ls ds fl)kUr ds vuqlkj ßek¡x vius vki gh vkiwfrZ cukrh 

gSAÞ 
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6. If a firm has average total cost ` 60, average variable 

cost ` 55 and output 50 units, then its total fixed cost is 

below 200. 

;fn fdlh QeZ dh vkSlr dqy ykxr ` 60 gks] vkSlr 

ifjorZuh; ykxr ` 55 gks ,oa mRiknu 50 bdkb;k¡ gks] rks 

mldh dqy LFkk;h yxr 200 ds uhps gksxhA 

7. Demand for factors of production is a derived demand. 

mRiknu ds dkjdksa ds fy, ek¡x ,d O;qRiUu ek¡x gSA 

Fill in the blanks : 

fjä LFkkuksa dh iwfrZ dhft, % 

8. The demand curve is ............. shaped. 

ek¡x oØ 
------------------------

 vkdkj dk gksrk gSA 

9. Goods of similar nature are called ............ goods. 

,d izdkj dh oLrqvksa dks 
-----------------

 oLrq dgrs gSaA 

10. Write the formula of MRTSLK of Cobb-Douglas 

Production Factor. 

dkWc&Mxyl mRiknu dkjd ds MRTSLK dk lw= fyf[k,A 
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